EARAROBREBRT —5 XN—ZXBISH—F

L T CKEZER (FRIH)

2023518258 (K) 170XH3H

Jpn3 95%R4mE

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 15000 =

[#A&%£] 1 7& 22,000,000 ~ 23%&:7,700,000 F  33&:4,400,000 0§ 43 :2,200,000 F 53 :1,100,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
PS~ T wy 4 | B 1:53.9 3333 |37.0| - 1 | #38 |FEW— (hR)
1027|9327V yY e 56.0 =) 5 | PATLRAR=LF 1 VT 2ERAM
RIVIRI—ZZRYI— B:FsLyvhU—Fz &= FEX
b |t st 4 | SHEX 1:54.1 2-2-2-2 |37.4| - 2 500 | BEERIER (PR)
] 2 'j; IJ_ ?-_j)b?' 56.0 ! 8 | @ F-x=lb
RiRwSAYF B:ELRY =YV I7—1
= ~ 4% 6 | B. LILPNT 1:54.5 5-5-5-5 | 37.4| — 3 468 | BPE= (hR)
31515 UT{ 9117/1_ _ = %6.0 @ (5) |BBFIEHD ()
RVYVRUJURIR 8:7a—FvHUF e ]
= Q 8 6 | JIHERS 1:55.0 1-1-1-1 | 38.5| — 4 454 | HERHE (hR)
ToAANb " %6.0 21/2) @3y |BAEIT
R:FXF B:7—U—-RTUVT FRIUS
~ g . 15 | GiElE 1:55.0 7-7-7-7 |37.5| - 5 | 424 |HMKBX (BR)
Ty A 5.0 ) G |EHEE
R:O0—RAFOF7 B:Fva—Hh /v J—H¥VIr—1I
= FEZE 1:55.8 4-4-4-4 |38.8| — 6 505 | SRIMR (KH)
JRERRSUS 4 T S D oy T 5 —
; (4) (B) EvIUyRI7—L
RO—YZA VAL BAREU—FUYT SN i
TIAVEYH— i 8 fsﬁl%ﬂ 1:(56).6 6666 |39.3| - 7 | 518 Egg&; k)
. 4) 3]
RO—YRAUAA BFp=AYRU—L @) BTy k71
@ 1—F—&RIEL
13—7— 3,2,7,1,5,4,6
20—F— 3,2,7,1,5,4,6
30—7+— 3,2,7,1,5,4,6
40—+ — 3.2,7,1,5,4,6
o ILRE
BB 7 260 | [ DA K 2-7 1309 5 & 2-7 280M 3EE 2-5-7 290M
B B 7 140M 5-7 150M =51 7-2 5309 3EH 7-2-5 990MH
2 1409 2-5 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




